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Section "A" 50 Marks

. Answer the following: 5+5=10
a) Airport transport is vital for accessibility to the remote areas of Nepal. Explain other
roles of air transport for national economic perspective.
b) Explain the relationships between airport design and aircraft characteristics.
. Discuss the significance of Airport Master Planning. What information do you need for
planning considerations of an airport? 5+5=10
. What are the factors affecting the length, orientation and number of runways?
Elaborate the functions and planning principles of taxiway. ' 5+5=10
. Air traffic congestion has become a major issue in the context of Nepal. Analyze the
reasons behind the occurrence of this problem taking into account domestic as well as
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international requirements, Suggest appropriate measures in a time-bcund manner to

resolve this problem. 20
Section "B" - 50 Marks
. Describe the design steps foi flexible airport pavement based on the CBR method. 10

6. How do you calculate the amount of run off for designing airport drainage network?
Explain in brief the significance of Markings, Signs and Lights markers for surface
movement guidance and control in airport? 5+5=10

. Answer the following: ~ 5+5=10
a) Heliport construction at hospital building complex rooftops is becoming popular

now. Mention the major factors to be considered in the design of the building
compléx carrying heliports.
b) Mention the existing environmental management system in TIA and list the major
challenges for its operation.

. Describe the issues and prevailing legal aspects related to the construction of
international airports by using the public private partnership (PPP) modality. What are
your suggestions for attracting private sector in airport construction, operation and
financing? 10+10=20

-The End -
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